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Using nest-loop to print the triangle pattern as Fig. 1
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Fig. 1

o (20 o)

Write a calculator function to do the ”+,—%,+” operations. The 2 numbers (operand1=90,
operand2=20) will be transmitted by main program for calculation and the result will be returned
to the main program. The main program will print out the result. Main program will call the
caleulator function 4 times. Each time operates one of the four mathematic operations.

XA= (20 %)
Write a program to sort a given array ary[ 1={3,24,62,16,13,29} by a sorting function. Main

program will pass the array to the sorting function and print out the sorted results after the
sorting function pass back the sorted array.
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There is a small 2x2 array template(f8f}z) as Fig. 3. Based on Fig.3 (template) to write a
program to find the upper left coordinate of the matching area in the 4x4 target array as Fig. 2.
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WRAEE (20 o)

Assume three employees’ personal information as following {name; salary; taxrate}: {John;
800,000; 13%}, {Mary; 1,200,000; 13%}, {Steve; 1,300,000; 13%}. Define a class including
name, salary, taxrate and a tax function to calculate the tax. Main program creates these three

employees’ objects and prints out the tax of each employee.
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